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Solve each problem.

5.47 × 104

This is the same as saying:
5.47 × (10 × 10 × 10 × 10)

And because the base is 10 you can just move
the decimal 4 places to the right to solve.

5.47 × 104 = 54,700

5 4 7 0 0 .

2.36 ÷ 102

Division is the same way. Only instead of
moving the decimal right, you move it left.

You can also multiply a negative exponent,
which means the same thing.

2.36 × 10-2 = 2.36 ÷ 102

. 0 2 3 6

1) 254.525 ÷ 10 1 2) 31.9 × 10 3

3) 178.92 ÷ 10 2 4) 681.85 × 10 4

5) 6.6 ÷ 10 1 6) 278.31 × 10 3

7) 842.38 ÷ 10 1 8) 491.8 × 10 4

9) 324.385 ÷ 10 4 10) 8.3 × 10 1

11) 4.111 ÷ 10 4 12) 191.955 × 10 2

13) 4.36 ÷ 10 2 14) 4.9 × 10 2

15) 8.42 ÷ 10 4 16) 354.64 × 10 2

17) 58.863 ÷ 10 3 18) 286.62 × 10 1

19) 615.31 ÷ 10 1 20) 394.522 × 10 2

Answers

1. 25.4525

2. 31,900

3. 1.7892

4. 6,818,500

5. 0.66

6. 278,310

7. 84.238

8. 4,918,000

9. 0.0324385

10. 83

11. 0.0004111

12. 19,195.5

13. 0.0436

14. 490

15. 0.000842

16. 35,464

17. 0.058863

18. 2,866.2

19. 61.531

20. 39,452.2
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